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Agplcation

¥I A gquarierback threw a ball x fotal yards over 10 games. It
ne averaged Y0 yards per game, write an equation that

represents this situation and soive for x, the total number of
yords thrown
% D Che
— K i, q ~—
tquation 1 % Bllken D 1 10

(L | x(D

or: 40D

0] laniah had x doliars in her bank account. After spending
$182 on Chnstmos giffs. she has $200 left in her account,

Wiite an equation and solve for x, the amount she originally

had in her account. 182;@0 Chdl«

Equation: Xﬁ- |82 = za) #ISZ 4182 3%
: : Zedpe =l
Solution: _ 3& -ZFD“

11} The weight limit on a cargo plane is 55 tons. Write an
inequality to represent the weight limit, w, and graph it.

9 S5 G0
12) What inequality is graphed on the number line? X 3-5

) 8 4 7 8 5 4. 221 0 0 2.3 4 S8 7 488

inequality:

13) Maggie needs at least 15 Ibs. of chocolate to make her ;
~hocolate fountain work. Write an inequality and graph itf.

leS

inequality:

Bb o

Py 240

14) Which problem situation matches the equation 12x = 2402

x = GOO _Q

16) Draw an example ¢

& Jamie sold 240 newspaper subscriptions each -m
month for 12 months. What is x, the total number ofZ ~
newspaper subscriptions that Jamie sold in 1 year?

)!( Brenna cycled a folal of 240 miles this month. She
cycled 12 miles less this month than last month. x—-l %
What is x, the number of miles Brenna cycled last
month? ;

ary charges $12 per hour for labor o paint housas.!&_* m
Whalt is x, the number of hours Mary worked if she
charged $240 for labor?
d) Sara bought 12 ride tickets and x game fickets. ‘z
How many game tickefs did she buy if she bqugb "
240 tickets in all2

Andy makes $2.50 per chore he does on the weekends.
Write a direct variation equation:

Make an (x.y) table of value&aﬁd—greph-ﬁ
X (choe)| 01 1212
Yy (phal 8) [0 [250] S 11

draw an example of




